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[解き方] 

 

N.105 シニアの算数チャレンジ問題  

初級編 

４＋○＝７ 

□ 
＋ 

＝
 

８ 

□に入る数は？ 

10－○＝4 

□ 
× 

＝
 

12

8÷○＝4 

□ 
× 

＝
 

18

7×○＝21 

□ 
÷ 

＝
 

９ 

(1) 横のヒントから， 

  ４＋○＝７⇒ ○＝3 

  次にたてを考えます。 

  □＋３＝８より □＝５ 

 

(２) 横のヒントから， 

  10－○＝4⇒ ○＝6 

  次にたてを考えます。 

  □×6＝12より □＝２ 

 

(３) 横のヒントから， 

  8÷○＝４⇒ ○＝２ 

  次にたてを考えます。 

  □×２＝１８より □＝９ 

 

(４) 横のヒントから， 

  ７×○＝２１⇒ ○＝３ 

  次にたてを考えます。 

  □÷３＝９より □＝27 

 

４×○＝32 

□ 
× 

＝
 

24 

27÷○＝3 

□ 

÷ 

＝
 

4 

90÷○＝15 

□ 

× 

＝
 

48 

(5) (6) (7) 

[練習問題] 


